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(Prose)

Answer the following in a word, phrase or a sentence each (1x5=5)
What irritated the author Jerome when he started packing?

Who wrote the poem ™ She walks in Beauty"?
Faraday marched against the mysterious forces of
Mention any one feature of a fixed mind set.

What is the reference to “iron curtain country”?
Answer any FIVE of the following in about 80 words each (5x5=25)

How is light pollution a biological nuisance?

How did Harris and George make packing exciting?

How does Aldous Huxley explain the agony of plants?

Would you call Narayan Murthy a visionary? Why?

What are the methods with which light pollution can be avoided and what are the

successful examples the author cites?
How has Mr Murthy structured his speech?

Describe the nuisance created by the dog Montmorency.

(Poetry)
Annotate any TWO of the following in about 80 words each (5x2=10)
Over the white seas
Rime white and cold
Brigands ungentled
Icicle bold
Took her young daughters
Sold her strong sons.
She kills her bright future
And rapes for a sou
Then entraps her children
With legends untrue
We slowly drove - He knew no haste
And I had put away

Contd...2
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IV Answer any THREE of the following in about 100 words each

1.
-
3.
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My labor and my leisure too,

For his civility,
(5x3= 15)

Why does Maya Angelou list a number of legends and myths in the poem?

Discuss the various implications of the title * A Far Cry from Africa’.

How does Markham present the degraded condition of man in the poem "The
Man with a Hoe?”

How does the poet contrast life and death in the poem * Because I Could Not
Stop for Death”?

(Short Story)

V Answer any THREE of the following in about 100 words each (5x3=15)

1.
2.
3.
4.

Give a detailed account of Appa Mam'’s pilgrimage.

What did Ivan plan to do with the money that would transform their lives?
Give an account of Appa mam’s eccentric nature.

Why did Ivan and Masha start hating each other?

(Grammar and Vocabulary)

VI 1) Rewrite the following sentences according to the instructions

2)

given in the brackets (1x5=5)
She was so poor that she could not educate her son. (use “too.......to")

He likes tea. But he likes coffee more. (combine using ‘prefer’)

Unless you study well, you will not get good marks. (use ‘if’ without changing
the meaning)

He is an eminent scholar. He is also a famous scientist. (Combine the two
sentences using ‘Besides’)

Tom said ‘Mother, I am hungry’. (write in reported speech)

Fill in the blanks with appropriate phrasal verbs (1x5=5)

He was so far away, we really couldn't ____ what he was saying. (make up,
make out)

Shehad _____fifteen dresses before she found one she liked. (tried on,
tried out)

Whenever he sat down at the piano, we knew he was going to ( show
up, show off)

The firemen hadto ______ the room to rescue the children. (Break up, Break

into)
He will _______ many reforms. (bring about, bring up)
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3) Correct the errors in the following sentences (1x5=5)
1. A hundred dollars are a big sum.
2. I will be at your house by an hour.
3. It was very kind for you to invite me.
4. 1 wish my legs will stop aching.
5. I willinvite you unless you apologize.

4) Read the following passage and answer the questions given below s
He was a funny-looking man with a high, bald, dome-shaped head, a ?a':: I;rery
small in comparison, a round upturned nose and a long wavy beard that didn’t
seem to belong to such a face. His ugliness was a standing joke among his
friends and he helped them to enjoy the joke. He was a poor man and
something of an idler, a stone- cutter by trade, a sort of semi -skilled sculptor.
But he didn’t work any more than was necessary to keep his family alive. He
preferred to talk and since his wife was a complaining woman who used her
tongue like an angry wagon driver using a horse-whip, he loved above all
things to be away from home.

He would leave home after a hasty breakfast and be in search of a shop, or a
temple, or the public baths, or a street corner, where he could get into an
argument. The city he lived in, was Athens and the man we are talking about
is Socrates.

One of his friends had asked the oracle at Delphi, who was the wisest man in
Athens. To the astonishment of all, the priestess had mentioned this idler
Socrates.

“The Oracle”, he said, “chose me as the wisest Athenian because I am the only
one who knows that he doesn’t know anything”.

A person who avoids work (choose a right word from the passage). (1)
Why did Socrates stay away from home? (2)
How did Socrates spend his time? (2)

5) Imagine you are the HR Manager of a firm. You have visited a college for
campus interview. Give a brief self- introduction on this occasion and explain
the recruitment process. (5 Marks)

6) Give one word substitutes for the following. Choose the appropriate answers
from words given In brackets. (1x5=5)

1. To laugh quietly

2. A state of total confusion.

3. Sudden convulsive movement.

4. Something impossible to believe.

5. Think about something deeply at length.

mull, chuckle, chaos, bristling, pulsating, spasm, tumble)

ok ok

(incredible,
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UNIT-1I
% Answer any TWO of the following questions in about 200-250 words
each: (2x5=10)

II A

IIT A

N e

Sketch the character of Jayatheertha Acharya.
Chughtai portrays the detrimental effects on poor women of being unmarried
in a society thiat forces them to cater to potential bridegrooms. Explain.

Explore the ‘themes of sympathetic portrayal of tradition and a critique of
modernity it the short story 'The Sky and the Cat".
UNIT - II

Answer the following questions in a word, Phase or sentence each: -
(5x1=

Mention the four birds used in the poem ‘The Season of Phantasmal Peace’.
What is the theme of Keki Daruwala’s poem ‘The Mistress’?

Which place is being referred to as ‘noisy and boring’ in the poem ‘The God'’s
Wake Up'?

What is being described as ‘unflawed’ in the poem ‘Ode to a Large Tuna in
the Market'?

What is an Ode?

Answer any THREE of the following questions in about 200-250
words each: (3x5=15)

What are the images with which Neruda addresses the Tuna in the poem
‘Ode to a Large Tuna in the Market’ ?

List all the symbols and images used in 'The season of Phantasmal Peace’
and explain their significance,

What are the agnostic elements used in the poem “The God’s Wake Up"?
What are the main concerns of the poet Keki N. Daruwala in the poem “The
Mistress”?

Answer any ONE of the following questions in about 300-350 words :
(1x10=10)

Explain the important thematic concerns in the text ‘Ode to a Large Tuna in

the Market’ by Pablo Neruda.

Walcott considers the Season of Phantasmal peace as “the equivalent of

prayer, a vision of peace that must be heard continually.” Justify.

UNIT - III
Answer the following questions in a word, phase or sentence each:
(10x1=10)
Who lost Jack when he was a baby?
When does Lady Bracknell start liking Cecily?
Who proclaims that “Divorces are made in Heaven"?
Who is Jack’s biological brother? Contd...2
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How did Miss Prism recognize the handbag?

Who is Algernon’s imaginary friend?

What are the things, according to Aunt Augusta,
rarely go together?

Who coraes to collect Gwendolen from the Manor house

What is Jack’s birth name? h
Who says, “Some aunts are tall, some aunts are not tall. That is a matter that

that are not the same and

in the country?

surely an aunt may be allowed to decide for herself?

Explain the context of any TWO of the following quotations in about
200-250 words. (2x5=10)

A moment, Mr, Worthing. A hundred and thirty thousand pounds! And in the
Funds! Miss Cardew seems to me a most attractive young lady, now that I look
at her. Few girls of the present day have any really solid qualities, any of the
qualities that last, and improve with time.

I do not deny that is a serious blow. But after all, who has the right to cast a
stone against one who has suffered? Cannot repentance wipe out an act of
folly? Why should there be one law for men, and another for women?

I'm not a Bunburyost at all. If Gwendolen accepts me, I am going to Kill my
brother, indeed I think Il kill him any case. Cecily is a little too much
interested in him. It is rather a bore so I am going to get rid of Ernest. And I
strongly advise you to do the same with Mr. ___ with your invalid friend who
has the absured name.

Sketch the character of any TWO of the following in about 200-250
words: (2x5=10)
Gwendolen Fairfax

Miss Prism and Dr Chasuble

Jack Worthing

Answer any ONE of the following questions in about 300-400 words:
(1x10=10)
In the play ‘The Importance of Being Earnest’ Victorian values are perpetuated

through courtship and marriage. Elaborate.

“The Importance of Being Earnest” is the best example for ‘comedy of
Manners. Explain.
UNIT - IV

Read the following comprehension passage and answer the questions

(5x1=5)
Though much is said about the need to encourage grass roots innovators, the
reality is that there are too many hurdles in their path. No one knows this
better than Mangal Singh an innovator from Lalitpur District (Bundelkhand
Region) of Uttar Pradesh. It was around 1987 that Mangal Singh successfully
demonstrated the Mangal Turbine in his native Bhailoni Lod
turbine lifts water from a river without using either djese| o
officials technocrats and researchers showered well deserv
innovation and the innovator.

h village. The
electricity. Senior
ed praise on the

Contd...3
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A study by IIT Delhi and Vigyan Shiksha Kendra found it very useful and cost
effective, helpful not only in agriculture but also for small-scale industries.
Later other scholars affirmed impressive reduction in greenhouse gas emissions
achieved by the Mangal Turbine. Despite obtaining a patent and a bagful of
endorsements at a relatively early age, Mangal Singh and his innovation have
been victims of apathy and neglect over the last three decades. Although he
has worked to spread the word about his innovation, visiting several states, age
and discouragement have taken a toll on his health. The government should
take immediate steps to give the Mangal Turbine importance in programmes
relating to irrigation drinking water and renewable energy. Several lift irrigation
projects in the country are non-functional today for a number of reasons. The

Mangal Turbine can be used at suitable sites to give a new lease of life to these
projects.

1. What did Mangal Singh innovate and where?

2. How does Mangal Singh'’s innovation work?

3. Name the institutions that lauded Mangal Singh’s innovation.

4. What has Mangal Singh faced over the last three decades?

5. What does the government need to do regarding Mangal Singh’s innovation?
B The bar chart below shows the number of men and women working in

the banking sector in New York city. Summarise the information in the

chart by selecting and reporting the main features. Make comparisons

where relevant. (5)
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C Write a short story on the following topic (5)

The young man missed the train
D Prepare an MC's draft for the Republic Day Celebration at School.

(5)
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|. Mettez les verbes au pass¢ composé ou a limparfait ;

1. -llest 20h 30. Tu es encore en retard | Nous (avoir) ..................... rendez-vous & 20h.

- l:u m’ (dire) s 0@ NE pas venir trop tot. Tu n’ (&tre)...........c........ pas sr d'étre a
I"heure au rendez-vous,

2.. -Qu'est-ce que tu (faire) ......... quand tu (sortir} ................. du bureau ?

Il (fflire] e, DRAU. Je (se promener).......o Je (revoir) .......c.e..uueue..n. UNE Vieille
amie, nous (parler) ............... et nous (prendre) ............ccernee.. UN cafE.

Mettez les verbes suivants au futur simple :

(10)

(10)

1. Cette ar.mée. I" (organiser) .................. mieux mon travail. Je (finir)........ccu.on...... moins tard.

2. Tu(venir) oo, me voir un week-end sur deux. NOUS (POUVOIT) .vvve e veiens Partir plus
longtemps en vacances.

3. le (faire) ......... s du sport plus souvent. Nous (aller) ....ccceeveenee.nn. €nsemble 2 la piscine.

4. Mesenfants (lire) ................ plus. Mon mari les (emmener) .................. 2 la bibliothéque.

5. Mes amis, vous nous (visiter) .................. chaque semaine. Nous vous (inviter).................. pour le
déjeuner.

1. Complétez avec qui, que, ot :
Jai une amie .................. s'appelle Emma.
Elle a compris ..., il ne supporte pas la musique rock.
Voici le studio ................. Madonna enregistrait tous ses CD.
C'est la chanson ............... mon frére chantait tout le temps.
...................... est une belle région
Je connais I'histoire ..................... vous Intéresse beaucoup.
Lafille ................. a une valise cherche son billet.
C'est un magasin .............. ily a une bonne collection de chaussures.
. Jaitéléchargé le film. ................... tu as vu hier.
10. Goutez le plat ..........cou..... on a préparé.

(10)

WO N U B WN
=
w
e
(1]
~N
o
2
]
<
]
=
(=)
m

Iv. Remplissez avec les pronoms « en » ou « y » : (5)
1. Tuesallé a I'anniversaire d’Anita ?- Oui, |’ .......cc..een....... SUIS 2II&,
2. Elle se souvient encore de moi ?- Oui, elle §".......c..ccourrenn. souvient.
3. Tuas fait un cadeau 7- OUi, [ .rvrvrmessersesens ai fait un.,
4. Elle a toujours la nostalgie du Brésil ?- Oui, elle ............... a toujours la nostalgie,
5. Tuas pensé a parler de notre prochaine voyage au Canada ?- Oui, j'............. pensé.

V. Répondez aux questions en utilisant un pronom : (5)
Exemple : Tu connais I'auteur ?- Oui, je le connais

Tu as lu son dernier livre ?

Tu as aimé I'histoire ?

Tu achétes souvent les romans policlers ?
Tu aimes aussi les films policiers ?

Tu as invité Pierre ?

e we e

VL. Mettez les verbes a I'impératif : (s)
1. (Organiser) ... mieux notre travail. (nous)
(Apprendre) ... & PrOgrammer tes activités. (tu)
(1) [FRR la liste des priorités. (vous)
(Attendre) .......cumssssenss la meilleur moment pour prendre rendez-vous. (vous)
(COMMENCET) wovevirernsransennes ton travail. (tu)

Lﬂ.l-‘hw!\-i

Contd...2
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VIl Reformulez avec I'adverbe en —ment : 5)
Exemple : M.Martin se COMPOrte ....c...ousseieses (de maniére positive)
M. Martin se comporte positivement

(avec brutalité)

2. M. Jiménez est trés compétent .......o....o.... (de maniére apparente)

3. M.Ming : c’est le meilleur ...........ooovoonn.... (de manigre incontestable)
4. M. Fouillol s'est 0pposé .......cooeeovvoveoveveen, (avec violence) a ses collégues

5. M.Andrieux a tout COMPIis ..u...vvvveons, (de maniére immédiate)

1. Mlle. Vidal a interrompu son stage

..........................

VIIl.  Lisez et répondez aux questions : (10)

A Visan, les touristes vont a la ferme
Pas un villageois n'y échappe « La Ferme » de TF1, est aujourd’hui le principal sujet de discussion a Visan
(Vaucluse), du salon de coiffure  la boulangerie. C'est dans ce village de 1638 habitants que sont
implantés les locaux de la nouvelle émission de téléréalité. Une vingtaine de célébrités sont enfermées
dans une ferme pour y travailler.

Au village, il y a les pours et les contres. Mais les enthousiastes sont plus nombreux. Au café le patron
allume la télé a I'heure de I'émission : « Les clients la regarde, chacun y va de son commentaire. Souvent
les passants nous demande ou est située la ferme. » Des passant parfois envahissants : 400 voitures ont
débarqué le lundi de Pdques.

« Je n’avais jamais vu autant de monde a Visan » confie Claude, agriculteur.

Certains bénéficient déja de retombées économiques, comme Géraldine, la boulangére : « On fournit de
30 & 80 baguettes par jours a la production, c’est rentable » Theo, de la cave de Visan, livre a la ferme
entre 50 et 60 bouteilles tous les dix jours : « Nous sommes dans une région viticole. Si seulement 10%
des téléspectateurs retiennent que les célébrités boivent du vin de chez nous, on aura réussi.»

D’autres sont plus critiques. Raphael, aide-soignant, espérait « que ‘La Ferme’ donnerait une meilleure
image de Visan. Mais les journalistes nous snobent et nous étiquettent ‘ paysans ‘. Vivement que tout
soit fini, que le village redevienne ce qu'il était. » Il ne reste donc plus qu’a attendre. Attendre de
retrouver la tranquillité pour certains, attendre les retombées financiére pour d’autres.

20 minutes, jeudi 29 avril 2004

Ce texte vient de quel journal ?

Combien d’habitants y-a-t-il dans le village ?

Quelle type d’émission est « La Ferme » ?

Quelle est la profession de Claude ?

Pourquoi Raphael n’aime pas « La Ferme » ?

Quelle est la retombée économique pour Géraldine ?

Les habitants de Visan, sont-ils tous contents de la présence de TF1 ?
Pourquoi les touristes vont a la ferme ?

Theo, qu’est-ce qu’il livre a la ferme ?

10. Nommez la/les émission(s) de téléréalité que vous avez vu.

DEONOW AWM

IX. | Ecrivez deux dialogues : (20)

Votre ami(e) a un entretien pour trouver du travail. Vous lui donnez des conseils
Vous étes invité dans votre famille avec votre ami(e). Mais votre ami(e) hésite & venir parce
qu’il/elle ne connait personne dans votre famille,

3. Vous retrouvez un(e) ami(e) que vous n’avez pas vu(e) depuis longtemps. Imaginez la scene

X. Ecrivez deux lettres : -

1. Vous écrivez a votre ami(e). Vous lui décrivez vos vacances d'éte.

2. Vous avez envie de faire un stage dans une entreprise francaise
directeur des ressources humaines).

3. Vous avez participé dans une féte. Vous écrivez a votre amie). Vous lui décrivey
pays ou d'un pays que vous connaissez)

(lettre ou message au DRH :

la féte (de votre

L L LT e
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One important change that has affected family life in India, as the
break up of the joint family system. In the new family pattern, both
parents work and go their way and children go their own way.
Working parents Often have very little time to spend as a family and
the adolescents pulsating with new energy and full of new
experiences and questions, begin to get estranged from their part
time parents. They then turn to peers and media for their role

models. We see the power of peers and media increase as the
family influences decrease.
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a)

b)

g)

h)

b))

ap oo N

T O - o

SECTION - A (10x1=10)
Answer all the following questions:

Examples of non trading concerns are:

i) Commercial banks ii) Civil hospitals

iii) Joint Stock Company iv) Private educational institutions

Excess of Minimum Rent over Royalties is called

i) Short workings i) Dead Rent ili) Royalties  Iv) None of the above
The consignor is

i) Principal ii) Agent iii) Debtor  iv) None of them

If debit side of receipts and payment accounts exceeds credit, it represents
i) cash at bank ii) bank overdraft iii) deficit balance iv) surplus balance

Royalty account is in the nature of
i) Real account ii) Nominal account i) Personal account iv) Revenue account

Depreciation is a process of

i) valuation ii) allocation iii) reduction  iv) appreciation

In branch account, goods sent by branch X to branch Y will be debited to
i) branch K ii) branch X iii) branch Y iv) branch Z

The amount set a side for meeting future losses is
i) reserve ii) provision i) depreciation iv) fund

Under hire purchase system, the agreement can be

i) renewed ii) registered iii) terminated  iv) endorsed

What do you mean by consignment stock?

SECTION - B (10x2=20)
Answer any TEN of the following questions in 2 or 3 sentences each:
What are the various types of branches?
State two features of installment system.
What do you mean by loading?
What is capital fund?
What do you mean by goods in transit?
What is sub lease?
What do you mean by consignment stock?
Can a seller seize goods under the installment system? Why?

Contd...2
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A

State the meaning of income and expenditure account.
What is account sales?

Define the term Royalty.

Write any two reasons for charging depreciation.

(3x5=15)
SECTION - C

Answer any THREE questions:

Abraham and Balu were partners in a Joint Venture sharing profits and losses
equally. Abraham supplied goods to the value of Z 2,500 and incurred expenses
amounting to ¥ 200. Balu sold entire goods on behalf of the Joint Venture and
realised ¥ 6,000. Balu was entitled to a commission of 5% on sales. Balu settled
by them in the ratio of 3:2. Give journal entries in the books of Abraham and
Balu.

Mr. X on 1% Jan 2014 took delivery from Mr. Y a machine on hire purchase
system X 1,500 being paid on delivery and the balance in five instaliment of
¥ 3,000 each payable annually on 31 December. The cash price of the machine
was ¥ 15,000. Calculate the amount of interest for each year.

From the following details prepare branch account in the books of the head office

4

l%oods sent to branch at cost 50,000
| Goods returned by branch at cost 3,000 |
| Branch credit sales 51,000
_ Cash sales at branch 2,500

Cash remitted to Head Office by branch 45,000
Expenses paid by Head Office 10,000
| Discount allowed to customer by branch 1,800
| Closing stock with branch at cost 17,000

Closing debtors (closing balance) ~ 7,000

Philips radio Chennai dispatched 100 transistors at ¥ 800 each to radio palace to
Mumbai, Philips radio paid ¥ 1,750 as freight, ¥ 150 as cartage and ¥ 500 as
insurance 10 sets were totally damaged during transit. Radio palace received 90
sets and it incurred the following expenses. Customs duty ¥ 1,000, clearing
charges T 500, warehousing T 1,200, insurance ¥ 600 and sales expenses T 800.
Radio palace sold only 60 sets. You are required to calculate the value of
Abnormal loss and consignment stock.

SECTION -D (3x15=45)
Answer any THREE questions:
Mr. Kiran the author of an accountancy text book entered into royalty agreement
with Bangalore Publishers Ltd on 1.4.2012. The terms were a royalty of ¥ 50 per
copy sold, be payable subject to a minimum rent of ¥ 4,00,000 p.a. with right to
recover the short workings during the subsequent two years from the year in
which shortworking arises. Other details as follows:

Contd...3
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[Year | No. of copies printed Closing stock |
'-—-—- .
2012-13 6,200 1,200
%2013-14 8,000 | 1,800 |
2014-15 9,000 2,000
]_2015—16 10,000 1,500
1 2016-17
| etk 12,000 1,000

Prepare necessary ledger accounts in the books of Bangalore Publishers Ltd.

8. From the following Receipts and Payment account of cricket club and the
additional information given, prepare the income and expenditure account for the
year ending 31.12.2018 and the balance sheet as on that date:

Receipts and Payment a/c for the year 31.12.2018

| T ?
To balance b/d By maintenance 6,820
Cash 3,520
Bank 27,380
Fixed deposits @ 6% 30,000
To subscription (including 40,000 | By crockery purchased 2,650
T 6,000 for 2017) |
B entrance fees .' 2,750 | By match expenses 13,240
i To Donations 5,010 | By salaries 11,000
| To interest on fixed deposit | 900 | By conveyance 820
| To Tournament fund 20,000 | By upkeep of lawns 4,240
|i To sale of crockery 2,000 | By postage stamps 1,050 |
‘ (Book Value T 1,200) i
- By purchase of cricket 9,720
! goods
— By sundry expenses 2,000
i By investment 5,700
By tournament expenses l 18,800
By balance c/d '
Cash 2,200
‘! Bank 23,320
l Fixed deposits @6% 30,000“
i | 1,31,560 1,31,560

Additional information:

i) Salary outstanding ¥ 1,000

i) Opening balance of stock of postage and stationery and cricket goods ¥ 750
and ¥ 3,210 respectively. Closing stock of the same is ¥ 900 and ¥ 2,800

respectively. .
iii) Outstanding subscription for 2017 and 2018 is ¥ 6,000 and 8,000

respectively. Contd..a
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3 The following trial balance was extracted from the books of Ganesh Ltd as on
31.3.2018. -
L Particulars — | pebit(x) | Credit(X) |
Capital " —————— [ 1,00,000
Drawings 20,000
Stock on 1.4.2017
A department 11,400 -
| B department 9,800 =
Purchase and sales
A department 39,600 74,003
———— B department 37,400 66,30
Inter department transfers
A department - 2,500
= B department 2,500 it
mturns inwards
A department 3,500 i
o ___B department 2,800 ey
Wages & salaries 16,500
Advertisin 8,700 ===
_Dividend on shares in B Ltd ] - 1,050
SharesinBLtd -' 23,000
Debtors & creditors ' 49,200 29,740
Carriage inwards | 2,400
_Rent & rates - 18,300 =
Furniture 15,000 sskica
| Sundry expenses 7,400
Lol A 6,840
| Provision for bad debts ———- 750
L 2,74,340 | 2,74,340

10.

11.

Prepare departmental trading and P/L a/c and a Balance sheet as at 31.3.2018
after making the following adjustments.

i) Inter department transfers were made at cost price

ii) Stock on 31.3.2018 A department - 29,600, B department - ¥ 17,000

iii) Depreciate furniture by 10%

Iv) Advertising to be apportioned equally

v) Other expenses to be allocated as A department 2/3, B department 1/3.

From the following particulars prepare the branch a/c and goods sent to branch
a/c in the books of Head Office. The goods are supplied at cost plus 25%.
Stock on 1.1.2018 at invoice price % 27,000
Debtors at branch on 1.1.2018 7 22,500
Petty cash on 1.1.2018 7 60
Goods sent to branch during the year at invoice 2 1,50,000
Cash sales ¥ 63,000
Credit sales ¥ 1,11,000
Goods returned by branch T 4,500
Cash sent to branch for:
Salary ¥ 10,800 Rent? 8,400 Petty cash ¥ 1,950
Cash received from branch debtors ¥ 1,18,200
Discount allowed from debtors ¥ 1,800
Stock at branch on 31.12.2018 at invoice price ¥ 33,900
Petty cash on 31.12.2018 T 90
All cash received by the branch is remitted to the Head office.

SECTION - E (1x10=10)
Compulsory question:
On 1% Jan 2014 a mini bus is purchased for % 1,60,000 under hire purchase
agreement. The amount payable is ¥ 40,000 on 1.1,2014 on entering the
agreement and the balance in three mstallrneqt of ¥ 50,000 each at the end of
the year. Depreciation is charged at 10% on written down va|ye method. Prepare
Mini bus account, Interest account and Hire vendors account in the books of the

r.
purchase HHERE KKK KK
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SECTION - A (MCQ type questions) - Compulsory
1. Answer ALL the following questions. (10x1=10)
a. Which of the following is an initial requirement of a management control system?
A. Establishing the standard to be B. Measuring the actual performance
achieved

C. Setting organizational objectives D. Taking appropriate corrective action

b. The total cost of Production for two levels of activity is as follows:
Level 1  Level 2
Production (Units) 3,000 5,000
Total Cost ($) 6,750 9,250
The variable production cost per unit and the total fixed production cost both
remain constant in the range of activity shown.
What is the variable production cost per unit?

A. $0.80 B. $1.25
C. $1.85 D. $2.25
c. The amount received by the employee after deductions is known as ................
A. Gross wage B. Net wage
C. Overtime D. None of the above

d. Which of the following would best present the number of manufacturing
companies in different areas of the country over time?
A. Compound bar chart B. Line graph

C. Pie chart D. Scatter graph

e. A government funded hospital offers free treatment to patients. Which of the
following is most likely principal budget factor?

A. Demand B. Labour hours
C. Materials D. Cash

f. A manufacturing company which currently operates in London, decides to hire a
new supervisor considering the decision, suggest at what levels the decision

would be made.
A. Strategic B. Operational

C. Tactical D. None of these
g. What part of a business is an investment centre?
A. A part that is involved in financial ~ B. A part that utilizes equipment and

services machinery
C. A part for which management is D. A part for which management is
responsible for both revenues and responsible for decisions regarding
the purchase of noncurrent assets

erating costs
op 9 Contd...2
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; d service centre?
Which of the following are advantages of setting up 2 share

A. Close to the business B. Cost savings
C. Efficient utilization of resources D. None of these
ceeereeennnns. €XPresses the likelihood of an event occurring.

A. Cost unit B. Budget
C. Variance D. probability

Identify the advantage of IRR.

A. Fairly complicated to calculate B. Calculation only provides an

estimate
C. It is not a measure of absolute D. None of these.
profitability
SECTION - B

Answer any TEN of the following questions in two to three (10x2=20)

sentences each.
What is Histograms?

Define fixed cost and variable cost.
What is operational planning and budgetary planning?
Mention any two mathematical techniques which can be used to analyse

management data.
State any two benefits of contribution.

Mention any two contents of the budget manual.

What is material purchasing budget?

State any two advantages of IRR.

Distinguish between financial accounting and management accounting.
What is Historical cost?

Mention any two non-relevant costs.

Write any two advantages and disadvantages of high-low method.

SECTION - C

Answer any THREE questions in not less than one page each. (3x5=15)
Explain the classification of cost.

Explain the three different levels of management.

The following data relate to the overhead expenditure of contract cleaners at two
activity levels:

Overheads Square meters cleaned
$73,950 12,750
$83,585 15,100
Using the high-low method, what is the estimate of overheaq cost If 16,200

square meters are to be cleaned?

Contd...3
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In a group of 100 CIMA students, 30 are male, 55 are studying certificate level &
6 of the male students are note studying certificate level.
A student chooses at random is female. What is the probability that she is not

studying certificate level?

SECTION - D
Answer any THREE questions in not less than two pages

each.
Evaluate Pearson’s correlation coefficient for the data on sales and advertising

spend in the table below and interpret its value.

(3x15=45)

Advertising expenditure | Total sales
($ 000) ($ 000)
1.3 151.6
0.9 100.1
1.8 199.3
21 221.2
1.5 170.0
Budgeted production
Product 2018 2019
Units Units
A 34 50
B 42 32
C 107 126
Total 183 208

Prepare : a) Multiple Bar Chart
b) Compound Bar Chart
c) Pie Chart

9. TVU has three production cost centres (Machining, assembly and finishing) & one

service cost centre (stores).

Machining | Assembly | Finishing | Stores
Area occupied (Sq. meters) 24,000 36,000 16,000 | 4,000
Number of employees 400 800 200 20
Plant & equipment at cost ($ 000) 1,400 200 60 10 |
Direct labour hours 16,000 32,000 4,000 -
Direct wages ($) 32,600 37,200 7,200 -
Machine hours 32,000 4,000 200 -
Store requisitions 310 1,112 100 =

Contd...4
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Allocated costs $ $ $ —$__—__—
Indirect wages 9,000 | 15,000 | 4,000 6.@3_
' Indirect materials 394 | 1,400 600 -
Maintenance 1,400 600 100 "
Power 1,600 | 400 | 200 | - |
Other costs (in total) $
Rent 2,000
Business rates 600
Buildings insurance 200
Lighting & heating 400
Depreciation on plant and equipment 16,700
Wage related costs 28,200
Administration & HR 7,100
Insurance on plant and equipment 1,670
Factory cleaning 800
57,670

The data above distinguish between those costs which can be allocated to a cost

centre and those which cannot. The first step is to construct an overhead

analysis sheet having separate columns for each cost centre, together with a

column for the total costs, a description of the cost item and the basis upon which

the cost has been apportioned between the cost centres if applicable.

JKL Hotel operates a budgeting system and budgets expenditure over eight

budget centres as shown below. Analysis of past expenditure patterns indicates

that variable costs in some budget centres vary according to occupied room
nights (ORN) while in others the variable proportion of costs varies according to
the number of visitors (V).

The budgeted expenditure for a period with 2000 ORN and 4,300 V were as

follows:
Budget Centre | Variable Costs | Budgeted Expenditure Budget Notes
vary with; $
Cleaning ORN 13,250 $2.50 per ORN
Laundry v 15,025 $1.75 per V
Reception ORN 13,100 $12,100 fixed
Maintenance ORN 11,100 $0.80 per ORN
House keeping v 19,600 $11,000 fixed |
Administration ORN 7,700 $0.20 per ORN |
Catering v 21,460 $2.20 per V
overheads . 11,250 All fixed
1,12,485

Contd...5
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In period 9, with 1850 ORN and 4575 V actual expenditure were as follows:

Budget Centre | Actual Expenditure
$
Cleaning 13,292
Laundry 14,574
Reception 13,855
Maintenance 10,462
House keeping 19,580
Administration 7,930
Catering 23,053
overheads 11,325
1,14,071

Required:
a) The total budget cost allowances (to the nearest $) for the costs for period 9
are - 1) cleaning 2) laundry 3) reception 4) maintenance
5) housekeeping 6) general overheads
b) The total budget cost allowance in the flexible budget for period 9 is
$113,521. The total budget variance for period 9 is $.....ceereennunannees :
The variance is Adverse/favourable.

SECTION - E (1x10=10)
11. ABC makes only one product, the unit costs of which are:
Direct materials $3
Direct labour $6
Variable production overhead $2
Fixed production overhead $4
Variable selling cost $5

The selling price of one unit is $21.

Budgeted fixed overheads are based on budgeted production of 5,000 units.

Opening inventory was 1,000 units and closing inventory was 4,000 units.

Sales during the period were 3,000 units and actual fixed production overheads

incurred were $25,000.

a) Calculate the total contribution earned during the period and also calculate
the total profit or loss for the period under marginal costing and absorption
costing.

b) Reconcile the profits calculated.
REEEKERKRREK
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a)

b)

c)

d)

g)

h)

)

SECTION - A
Answer ALL the following questions.

Max Marks: 100

(10x1=10)

Managerial Economics generally refers to the integration of economic theory with

ethics
All the above

Download sloping

business
a) theory b)
c) practice d)
Average revenue curve of a firm under perfect competition is
a) vertical b)
c) horizontal d)

Total revenue is equal to

a) Price plus quantity b)

c) Price divided by quality sold d)

Upward sloping

sold

The theory of monopolistic competition is associated with

Alfred Marshall
Joan Robinson

Prof. Schumpeter
F.B Hawley

Minimum
None of these

Sub-normal profit
None of these

Marginal cost
Explicit cost

Joan Robinson

a) Hicks b)

c) Edward H. Chamberlin d)
Who has developed the innovation theory of right?

a) Paul A. Samuelson b)

c) F.H Knight d)
MC curve cuts AC curve when AC is

a) maximum b)

c) Zero d)
When a firm's average revenue is equal to its average cost, it gets

a) Supernormal profit b)

c) Normal profit d)
The cost recorded in the books of account are

a) Total cost b)

c) Average cost d)
Kinked demand model is associated with

a) E.H Chamberlin b)

c) Samuelson d)

Doctrine of ‘Quasi-Rent; is associated with

a) Alfred Marshall b)
c) Davide Ricardo d)

Paul M. Sweegy

Samuelson
Adam smith

Price multiplied by quality

Price minus quality sold

Contd...2
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SECTION - B

Answer the following any TEN questions in two or three (10x2=20)

sentences each.

What is decision-making and forward planning?

What is Marginal cost?

What is Perfect competition?

What is Price discount?

What is Pricing Policies?

What is dumping?

Give the meaning of price Discrimination.

What is product differentiation?

What is innovation?

What is Cartels?

What is Producers surplus?

State the loanable funds theory of interest.
SECTION - C

Ans':ver any THREE questions in not less than one page (3x5=15)
each.

Explain the scope of Managerial Economics.
Write a note on total revenue, average revenue and marginal revenue.

State the meaning and features of oligopoly.

Explain the relationship between AR and MR under perfect and imperfect
competition.

SECTION -D

Answer any THREE questions in not less than two pages (3x15=45)
each.

Critically examine the Ricardian theory of rent.

Explain the equilibrium of the firm under monopoly in the short run and long
run.

Explain the cost- output relationship in the short run.

State the role and responsibilities of a Managerial Economist.
SECTION - E

Case study Compulsory :

(1x10=10)
Explain and illustrate break-even chart.
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SECTION - A
1. Answer ALL the following questions. (10x1=10)
a) Positive correlation implies that on an average as one variable is increasing
the other is
i) Decreasing ii) increasing
iii) Positive iv) No Change
b) If by=6, r=0.6, g, = 2 then g, =?
i) 1.2 i) 20
i) 2 iv) None of these
c) What is the bankers discount on the bill of 10,000 due after 3 months at
12% p.a
i) 3,000 i} %30
iil) 300 iv) 23,600
d) Fisher's Index number is of Laspeyer’'s and Paasche’s Index
number
i) AM ii) Product
i) GM iv) HM

e) Non-negative variables which are subtracted from the left hand side of
“greater than or equal to” inequality to convert it into equality are known as

inequality.
i) Basic variables ii) Surplus variables
iii) Slack variables iv) Aiufival variables

f) A simple interest on ¥6,000 at the rate of 5% per annum for 3 years is

i) 600 ii) 900
iii) 90 iv) None of these
g) Fourth proportional to 7,17,19 is
i) 21 i) 71
i) 771 iv) None of these
h) What is the compounded ratio of 6:7, 8:5 & 3:4
i) 35:36 ii) 36:35
ili) 148:140 iv) 140:216
i) The simple interest on 400 from 3™ March to 20" December at 4% p.ais _
i) T2 i) t12.80
iii) v40 iv) None of these
i) A function which has to be optimized in Linear Programming problems is
known as __
i) Basic function ii) constraints

iii) Non-negativity function iv) Objective function

Contd...2
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. SECTION - B (10x2=20)
nswer any TEN of the following questions t 6%
Find the simple Interest and amount payable for 710,000 for Syeers SR
p.a

The rate of trade discount and cash discount on a TV set costing ¥20,000/-
are 3% and 2.5% find the selling price.

If Cov(x,y)=12965, o, = 12,3, s, = 15.79. Find coefficient of correlation.
State any two properties of regression coefficients.

How do you identify unbounded solution in a simplex table?

An infinite GP has first term 6 and the sum 8. Find the GP.

Find the sum of first 13 terms of an AP of which 7" term is 40.
Distinguish between slack and surplus variables.

Index Numbers are “economic barometers”. Explain
State the problems found in the construction of Index Number of prices.

Two numbers are in the ratio 2:3. If 5 is added to each number, the ratio
becomes 5:7. Find the numbers.

What do you mean by Bankers discount & True discount?

SECTION - C
Answer any THREE questions (3x5=15)
Calculate the cost of living Index Number using family budget method.
' Group o Index number Weighigj
| Fooc_i 350. 10 ] ‘j
| Fuel & lighting 150 2
iﬁam o 200 2 o ‘
?6Ese rent | 150 2 !
' Miscellaneous 225 a7

For the data related to price index and production index, estimate price index
when the production index is 116,

. T [ Production Index | Price Index -
AM 110 e [OR
sb _ |12 5 -

_ ___r=04 =
Suppose the three bills for 25,800, 29,000 and 7 =

3,600 are due respactivaly on
2" July, 6" August and 20" September. Find the equated due dage ctively on
A paper mill produces two grades of paper namel

material restrictions it cannot produce more than 40
tons of grade Y in a week. There are 160 Production hours in a It
requires 0.2 and 0.4 hours to produce a ton of Products X and Y resw:ci:te]y
with corresponding profits of 2200 and 2500 per ton. Formulate aboee b
LPP.

y X &Y. Owing to raw
O tons of grade X and 300
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SECTION - D
Answer any THREE questions: (ALEss)
a) Solve the following LPP graphically ()
Maximize Z=3X,+5x,
S.t X;+2x,< 2000
X1+X%,<1500
X2 <600
X1, X2 >0
b) Ify is the mean proportional between x and z then show that (5)

x:z=x21y?

Following are the wei

’ ghts of 9 mothers and their babies at the time of
delivery.

Mother (kgs) | 54 | 60 | 49 | 57 [ 68 [ 55 [ 62 [ 60 | 58

‘Baby (kgs) | 3.4 | 3.2 | 136
k y (kgs) j_232|3.6{4 2.4 3.6!4.1 2.5 3'5J

—— e I =
i) Obtain the two regression equations.
i) Find the correlation coefficient

iii) Estimate the weight of a baby whose mother's weight is 50 kgs.

a) Calculate Fisher’s Price Index number for the following data (10)
' Commodity | 2015 T 2017 |
A | Price | Expenditure | Price | Expenditure :

B | 8 80 10 120
C 10 120 12| 96 |
b | s 4 | 5 | 50 |
E 4 56 | 3 60 4‘
20 | 100 25 | 150 |
b) “Fisher’s Index number is an Ideal Index number”. Justify. (5)

a) The bankers gain on a certain bill due after 6 months at 16% (5)
interest per annum is T40. Find the

i)Face value of the bill i) True discount iii) Bankers Discount.

b) A sum triples in 10 years. If interest is compounded half yearly (5)
find the nominal and effective rate of interests.

c) How many terms of the AP 3,7,11,15,.... should be taken so that (5)
the sum is 4067

SECTION - E

Compulsory : _ (1x10=10)
Using simplex method solve the following LPP

Maximize z=X;+X,+3X3
s.t 3x;+2%;+X3< 3
2X1+X2 +2x3£2

X1, X2, X3 20
R T T



W 1o
$3.AL0SIUS COLLEGE LiRaR?  “(°
MANGALORE.-S750013
(2018 Batch Onwards)
Eaies S S i N S
;4;}4.2 . Reg. No. I |
St Aloysius College (Autonomous)
Mangaluru
B.B.A. Semester II - Dearee Examination
_April 2019
Marketing Management
ime: 3 hrs. Max Marks: 100
SECTION - A
4. Answer ALL the following questions. (10x1=10)
a) Marketers can apply branding on
a) Physical goods b) Services
) Organisation d) all the above
p) The desire to have a commodity or service is called.
a) Utility b) Want
c) Goods d) Welfare
c) is to evaluate each segment’s attractiveness and select one or more of the
market segments.
a) Market segmentation b) Market targeting
c) Market positioning d) Market evaluation

d) The brand choice is heavily influenced by reference group in which stage of product
life cycle.

a) Introduction b) Growth
c) Maturity d) Decline
e) A firm using strategy targets market segments and designs separate offers
for each segment.
a) Concentrated marketing b) Mass marketing

c) Undifferentiated marketing  d) Differentiated marketing
f) As soon as ideas are short listed, best idea leads to development of

a) Product concept b) Production concept

c) Promotion concept d) Societal concept
g) Evaluation of profitability of each segment is called

a) Market segmentation b) Positioning

c) Targeting d) Differentiation

h) The concept of quality encompasses many factors, and the perception of quality rests
solely with the

a) Sellers b) Customer
c) Price d) Value
i) Formal statement by manufacturer of product regarding its performance is classified
as
a) Guarantees b) Warranties
c) Labeling d) Packaging
) Step in information search in buying process, consumer search state is classified as.
a) Less attention b) Data attention
c) Research attention d) Heightened attention

Contd...2
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SECTION - B

10x2=20
Answer the following any TEN questions in two or three ( )
Sentences each.

What is Consumer market?

State any three concepts of marketing.

What do you mean by BCG model?

Write the meaning of market positioning.

What do you understand by International marketing management?
What is product mix?

What do you understand by societal marketing concept.
What do you mean by buying motive?

Write any three characteristics of consumer behavior.
Give the meaning of branding and packaging.

What do you understand by the term STP?

Give the meaning of digital marketing.

SECTION -~ C

Answer any THREE questions in not less than one page (3x5=15)

each.
Explain the scope of Marketing?
What are the benefits of market segmentation?

Explain different types of buying decisions.
Identify various elements of Marketing mix.

SECTION - D

Answer any THREE questions in not less than two pages (3x15=45)
each.

Analyse the stages in new product development.
Evaluate the functions of marketing.

Analyse the steps in buying decision process.
Explain the nature and approaches to international marketing.

SECTION - E
Case study Compulsory : (1x10=10)

M/S Ayur beauty products was set up in 1999 by Mrs Pandey and has been a
medium sized business firm. Its key activities were manufacturing and selling
of herbal cosmetics and perfumes. Their top selling perfume “Musk” has been
a favorite among young females and it has great demand. Its new raw
material is an organic extract from musk-deers in Nepal. After a recent
regulation enforced in Nepal, the trapping and killing of musk-deers has been
restricted. This has pushed up the raw material price by 50%. Mr. Vineet has
joined as a marketing manager of “M/S Ayur Beauty Products” and he seeks
your advice on two grounds.

Questions

a) Whether to raise the price of “Musk”

Hhe: g perfume? If so, how will the
customers respond to it?

b) Whether to use synthetic (chemical) raw material?

! But this could prove
false the company’s claim of being a ‘Herbal’ Company.
o 2 3 ok o K K
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PART - A
(Environmental Science)
Answer any TEN of the following questions: (2x10=20)

Define autecology.

Expand CITES.

Define Biodiversity. Mention the types of biodiversity.
What are Endangered organisms?

What is global warming?

What are decomposers? Give example.

Write any two effects of soil erosion.

Mention any four conservatory measures of forest resources.
What is Niche?

Write the composition of atmosphere.

Write the sources of water pollution.

What is In-situ conservation?

Answer any FOUR of the following questions: (5x4=20)
Define Natural resources. Write a note on renewable and nonrenewable
resources.

Define noise pollution. Explain the effects of noise pollution.

Explain the biotic and abiotic components of pond ecosystem.

Write a note on acid rain and ozone depletion.

Write a note on CRZ (Coastal Regulation Zone).

Answer any THREE of the following questions: (10x3=30)
Discuss the different values of Biodiversity.

What is Solid Waste Management? Explain the control measures in brief
Explain the sources, effects and control of air pollution.

What is Environment? Explain the different components of environment.
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PART - B
(VALUE EDUCATION)
IV. Answer any FOUR questions in about 8-10 sentences each. Each
question carries 5 marks: (5x4=20)
22. Explain any three sexually transmitted infections.
23. Write a note on crisis during various stages of life span.
24. Name the types of drug and explain their effects.
'25. What are the phases of addiction? Describe.
26. Explain the need for value clarification.
27. Explain the methods of coping with anger.
V. Answer any ONE question in about 20 sentences. The question
carries 10 marks: (10x1=10)

28. Explain the misconceptions about counseling.

29. What is alcoholism? Explain its effects on family.

Aok ok ok ok okok ok K



